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SDERIVATION:
T 1F R(39126)1=0 : . . THEN R(3833,50)=R(3832,);
F R(3912.)=2 T e : e . 'THEN R(3833,5J)=R(S81.);
F R(3912.1=3 THEN DO; o B L . BRI
IF R{3911e1>= b & R(591101< 12 THEN 00; AT s '
IF RI{1076e)~= Co : R o "THEN R(3833,501=R(10964)
IF R(lU?bo"‘NA sl S w o THE"‘ R(3833,50)1=R(581.);
END. - s .

IF R(JQll.)> 13
ND; o s
F RI3912.)=6 THEN po; . AT
“IF R(3911le)>=6 & R(39114)<= 12 THEN DO;
SIF R(15384)-~=NA
fIF R(1638.)=NA & R{1096. l«-NA

IF R(1638¢)=NA & R(10964)=NA

THEN R(3833.50)=R(531.1;

 THEN R(3833.50)=R(156384)3
THEN R(3833.501=R(109641;
CSTHEM R(3833.50)1=R(5814);

END; LT
O IF R(3911e1>=13 € R(3911.)€=24 & R(10964)~=NA THEN R(3833.50)=R(10964);
ffIF R{3911e)>=13 & R(3911e)<=24 & R(1096e)1=NA . THEN R(3833.,50)=R(581l.);
“IF R(3911e)>=25 . _ . THEN R(3833,50)=R(541e);
END; ’ CT L TR R :

;dxF R(3912.)=5 THEN LO;
CIF R(391141>=6 & R(391141<=12 THEN DU;

~IF R(2208.)-=NA . THEN R(3833,50)=R{22008e)};
IF R(2200e1=NA & R(15384)=NA THEN R(3833.57)=R(1638.);
IF R{2208¢)1=NA €& R(1633.)=NA & R(loqe.:~-NA THEN R(3833.50)0=R(10964);
©IF R(22084)=NA € R(1638¢)=NA & R(10964)=NA THEN R(3833,50)=°(581.);
... END; . e : : .
IF R(3911e)>=13 & R(3911.)<=24 THEN 0O; L
T IF R(1638e)~=NA ST T THEN R(3833.50)1=R(1638.)
IF R(163de)=NA & R(1U96e)~=NA - =" - THEN R(3833.50)=R(109k.);
. IF R(1638e)=NA & R(1U964)=NA o THEN R(3833.5N)=R(581.);
END; | . e L i
IF RI3911e1>=25 € R(3911e1<=36 & R(10964)~=NA THEN R(3833,50)1=R(1096.);
IF RU391161>=25 & RI39116)1<=36 €& RILO96e)=NA THEN R(3833,50)=R(581l.);
IF R(3911.)>=37 _ "7 THEN R(3833,50)=R(S81la);

END;
IF R(3912.)=6 THEN 0DO;
IF R{3911e)>=6 & R(39114)<=12 THEN DU}

[F R(2962¢)~=NA THEN R(3833.5J)1=R (27624}
IF R(29h2¢)=NA & R{2208e)~=NA THEN P(3833.52)=R(2208.1);
IF R129524)=NA & R12208¢)=NA"E R(1638.)-=NA THEN R(3833.50)=R (163513
IF R(2752e¢1=NA & R{2208e1=NA & R(153d4¢)=NA €

R(1096.)~=NA THEN R(3833,50)=R(1096)3

R1296Le)=NA & R(220de)=NA & R(163Be)=NA &

‘R{1096.)=NA THEN R(3833,50)=R(581.);
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. : | APPENDIX 24-1 2
“IF R(3911.)> 13 & R(3911.)<=24 THEN DU} T

" IF R(22084)~=NA , . © 7. THEN R(3833.50)=R(2208.):
CIF R(2208.1=NA & R(16384)~=NA 0 THEN R(3833.50)1=R(1633.);
UIF R(220%.)=NA & R(16384)=NA & R(1096. )ﬁ-NA‘ " THEN R(3833.50)=R(10%.);
€§9~ IF R(2208¢)=NA & R(1638.,)=NA & R(10964)=NA . THEN R(3833.,50)1=R(S81.);
END; e
LIF R(39114)>=25 & R(39114)<=36 THEN DO;
IF R(16384)~=NA : oo THEN R(3R33.5J)=R(1633.)
270 IF RUL63Be)=NA & R(10964)~2NA w0 THEN R(3433.50)=R(1096.);
T IF RU16384)=NA & R(10964)=NA _ . THEN R(3833.50)=R(581.);
END; < -
_IF R{3911¢1>237 & R(1096.4)~=NA . ‘ , THEN R(3833.50)=R(1095.);
UIF R(391141>=37 & R(L0964)=NA . THEN R(3833.50)=R(581.);

<IF R(3912s)==-2 THEN DU; ‘ o
SIF RU1e323913 | R(le)=4338 | R{le)=1398 THEN R(3833,50)=R(1638.);

- END; ~ |
CIF R(3912.)=1 THEN 0O; S
1F R(9441>R(581450) - THEN R(3833.50)=R(581.);

IF R(94.)<=R(581.50) THEN 0O;
IF (R(qa.)—(R(93.l/12))> 175 & (Rl94.l-|R(93.l/12))< 1.5 » :
R _ © THEN R(3333.50)=R(3833,);
IF (R(qa.)-(R(93.)/12))<17 5 | (R(94. )-(R193.)/12)i>18 S THEN 00;
“IF R(le)=1030 : THEN R(3833.50)=T7;
IF R(le)=4132 | R(le)=821 | R(l.l ZQbO I R{le)=39T72
s S : -~ .THEN R(3833.50)=12;
“IF R({le)=1075 - . o " . THEN R(3833.50)=6;
IF R(le)=1523 ) THEN R(3833.50)=10;
IF R(1e1=2293 | R(ls}=455 l RE1le)=3994 | R(le)=851
. - THEN R(3833,50)=11;

END; ' , - .
END; ' : o
END; . Lotgaee .
IF R(1e)=821 | Rlle)=496 | RU1le)=587 <~~~  THEN R(3833.50)=12;
ELSE IF R(1e1=2165 | R(1le)=455 ~© THEN R(3833.50)=11;
ELSE IF R(1.1=315 o TR .- THEM R(3333.50)=10;

. ELSE IF R(le)=197 ' ‘ . THEN R(3833.,50)=14;




@

~ DERIVATION:
T SAVEL=R(3875.);
. SAVE2=R(3872.);

. PRTL=NA; } -
"IF R(38524)=0 | (R(3852.)>=3 £ R(3852.1<=8)
~IF R(39124)=0 :

SAVE3=R(3870.);

% SAVE4=R(3868.);
- SAVE5=R(3865.);
~IF R(3375«)=NA
o IF R(3872e)=NA
" IF R(3870«)=NA
< IF R(3863¢)=NA

(3 I 2 I 3 B 3 B 2}

[F R{3865.)=NA

IF R(38524)>=1 €& R(3852.)¢=2

IF R(3912.)=1 THEN 0O;
" IF R(31926)1<=(66=R(22e)+R(9441))

R(585¢1=0 THEN R(3875.)=-1}
R{1104¢)=0 .,THEN R(3872.)=-1;
R{165C«)=0 THEN R(38704)=-1;
R(2213)1=0 THEN R(33868.)=-1;
R{29734)1=0 THEN R(3865.)=-1;

THEN 0O;

IF R(3192e) >(66=R(22e)+R(944))

.. END3

IF R(39124)=2
IF R(39124)=3 THEN 0O;
IF R{3911le)>=1 & R(39114)<=12

"IF R(3872e)~=NA

THEN DQ;

[F R(33724)=NA £ R(3875e)~=NA

IF R(3872.)=NA & R(3875.)=NA
IF R(3192.1<=68-R(3911e)/12
IF R(3192¢)>08-R(3911s)/12
END;

~ END:

[F R(3911e1>=13 THEN 00;
IF R(3875.)-=NA

IF R(3375.)=NA THEN 00;

IF R(3192¢1<=(68=-R{3911.)/12)
IF R(31924)> (68-R(3911e)/12)

- END; C ‘

END;

ENO; :

IF R({3912.)=4 THEN 00;

IF R(3911e)>=6 & R(3911le1¢=12
IF R(15506)1>=0 & R(1650.)<=8

IF R{387Ue)~=NA : '
IF R{3870.)=NA THEN 00;

[F R(3192.)<=(69~R(3911.)/12)
[F R(3192.)> (69-R(391141/12)
END;

END;

THEN 0O0;

THEN DO;
THEN 0DO;

[F R(1650.)<0 | R(1550.1>83 THEN DQ;

[F R(3872.)~=NA

[F R(3872.)= NA THEN DO;

[F RE3I192e1<=(69=R(3911e)/12)
IF R(3192)> (69-R(3911e)/12)
END; "

ENO; o e

.. END3 Cha L

. APPENDIX 24-1 3

THEN PR7L=6;

- THEN PR71=0!?

THEMN PR7TLl=1;
THEN PRT1=2;

THEN PR71=R(3875.);
THEN PR71=K(3872.);
TAEN PRTL=R(3875.);

THEN PR71=1;
THEN PR71=2;

THEN PRTL1=R(3875.});

THEN PR71=1;
THEN PR71=2;

THE™ PRT1=R(3870.);

THEN PR71=1;
THEN PRT1=2;

THEN PRT1=R(3872.);

THFEN PRTI=1;
THEN PR71=2;



R(3911le)>=13 & R(3911.)<=24 THEN DO;
R(1104¢)1>=0 & R(1104.)<=8 THEN 0O;
R{3d72e)~=NA
R13872+)1=NA THEN 0O;
R(31926)1<=169-R(3911e)/12)
: R(31924)> (69-R(3911.)/12)
. END; .
“END; o
IF R(11044)<0 | R(1104¢)>8 THEN 00;
IF R(38754)~=NA :
IF R(3875.)=NA THEN DO;
o IF R(31924)<=(69-R(3911)/12)
“IF R(3192¢) >(69-R(3911.1/12)
END; F »

ENUS
END; .
IF R(3911.)>=25 THEN 00;
IF R(3875.)1~=NA
[F R(3875.)1=NA THEN 00;
IF R(3192)<=169-R{3911e)/12)

END: T
IF R(3912.)=5 THEN 0DO;

“IF R(221341>=0 & R(22134)<=8 THEN DQ;
IF R(38634)~=NA
[F R(3863.)= NA THEN 0O;
IF R(31924)<=(69=R(3911e)/12)
T IF R(31924) >(69=R(39114)/12)
© " END; o :
CEND;

O L S F T P : R Lo

IF R(39Y1le)>=6 & R(391le)<=12 THEN 00;

APPENDIX 24-1 4

THEN PRT1=R(3872.);

THEN PRTL=1;
-THEN PR71=2;

THeN PRT1=R(397S.);

THEN PRT1=1;
. THEN PRT71=2;

THEN PRT1=R(3875.);

THEN PR71=1;
ELSE PR71=2;

THEN PR71=R(3868.);

~ THEN PRT1=1;
~ THEN PR71=2;



APPENDIX 24-1 ~ 5

TF R(2213.)<0 | R(2213.1>8 THEN DO; . :
L IF R(387J¢)~=NA . o THEN P&71?R(3870.I;
IF R{3870.)=NA THEN DO0; R F

IR R(319241€=169=R(39114)/12) THEN PR71=1;

- ELSE PRT1=2;

~F o END;

:*f“?>END.
S IF R(3911.)> 13 € R(3911.)<=24 THEN DO;
IF R(1650.1>=0 & R(1650.1<=8 THEN DO;
 IF R(3870e)~=NA _ _ THEN PRTL1=R(3870.);
CIF R(3870e) =NA THEN DO; ; 4 _

IF R(31926)<=(69-R(391161)/12) ‘ 1 THEN PRT1=1;

©IF R(3192e¢) >(69-R(3911e)/12) . THEN PRT1=2;
END; ' o o :

END: L

IF R(165041<0 | R(165041>8 THEN 0O; o ,

IF R(38724)~=NA - V s " THEN PRT1=R(3872.);

ELSE DU; ‘ R . _ A

‘IF R(319241¢<=169- R(3911-)/12) THEN PRT1=1;
S _ELSE PR71=2;

END;
END;
‘END; ' i
IF R(3911.)>=25 & R(3911.1<=36 THEN DO; :
R(1104¢)>=0 & R(1104+1<=8 THEN DO; - S t
R(38724)~=NA T T THEN PRTL1=R(3872.);
L R(3872.)1= NA THEN DO; ' ' o -
- IF R(3192.)¢<=(69-R(3911)/12) B THEN PR71=1;
ELSE PRT1=2;
¥ -~ T END: ‘ :
o.. END; : :
IF R(11044)<0 | R(1104+)>8 THEN DO; ‘
[F R{3875¢)~=NA ) . THEN PRTL=R(3875.);
IF R(3875.)=NA THEN 0OU;
IF R(31924)<=(69-R(39114)/12) i o THEN PR71=1;
: ' ELSE PRT1=2;
. END;
7 END3 ' R R
END: R s
JIF R(3911.)>=37 THEN DO; o e ,
IF R(3875.)-~=NA o THEN PR7T1=R(38754);
IF R(3875.)=NA THEN DO; - Cooo T
IF R(31924)<=(69=-R(3911e)/12) ' THEN PRT1=1;
: : : ELSE PRT1=2;
"END;
" END;

"M END;




R(3912.)=6 THEN DO; Lo TR
R(3911.1>=6 £ R(3911.)1<=12 THEN DO;
R(2973.1>=0 & R(2973<)<=8 THEN DO;

" APPENDIX 24-1 -6

b ore T S s

R(3865)=NA THEN 00;

R(31924)1<=(70~-R(3911.)/12) THEN PRT1=1;

:IF R{3868.)=NA THEN DO; O S
IF R(3192.)<= (70-R13911e)/12) . o THEN PR71=1;
L . : - Vat ’ ' ELSE PR71=2;

IF R(3911.)> 13 € R{3911.)<=24 THEN DO;
“IF R12213.)>=0 & R(2213 )<=8 THEN 00;
IF R(3868¢)~=NA -

F R(3868.)=NA THEN DO. ek
F R(3192 1<=(70-R(3911.1/12)

" THEN PR71= 1.'J
ELSE PRT71=2;

e s iz

IF RU221341<0 | R(2213)>8 THEN 0O0; -

 $THEN PR71 R(3868.);

IF R(387041~=NA S T . THEN PRTL=R(3870.)

R(38654)~=NA L T T 7 - THEN PRTL=R(3865.);

L ‘ ELSE PRT1:=2;

ENDS T A Tlens

IF R(2973.1<0 | R‘2973o))8 THEN DQ; - : s

IF R(386841~=NA L THEN PR71=R(3868.);

"IF R(33704)=NA THEN 0DO; : 5 ) )
o IF R(319241<=(70-R(3911.1/12) BRI THEN PRT1=1;
(Ebg;j“. : B , e ELSE PRT1=2;
¥ CEND; , C i g "
"~ END; o )
END;
L IF RU3911.1>=25 & R(3911.)<=36 THEN DO}
IF RU16504)>=0 & R(1650.)<=8 THEN 00} i
_ IF R(3870.)-~=NA o= THEN PRTL=R(3870.);
~ IF R(3870+)=NA THEN DO; T 4
T T IF R(31924)<=(70-R(3911e)/12) ol e e THEN PRT1=1;
el o M. . ELSE PRT1=2;
END; : R :
END; ‘ ‘ ' R
< IF R1165041<0 | R(165041>8 THEN DO
IF R(3872.)~=NA S T THEN PR71=R(3872.);

IF R(3872.)=NA THEN DO; : ] .
IF R(3192.)1<=(70~-R(3911a)/12) - = | THEN PRTL=1;

o ELSE PRT1=2;
" END;

END; . -
END;
- - |-



F R(3911e1>237 & R(3911e1<=48

THEN DO;
IF R(1104¢)>=0 £ R(1104.1<=8 THEN 0O0;
s IF R(38724)~=NA o
t,”' _ELSE 003
- F R(3192.)<=(T70-R(3911e)/12)
@ i roecmen
£ 1¢ END;
~ END; o
IF R(110441<0 | R(1104.1>8 THEN DO;

© IF R(38754)~2Na
ELSE DO;

‘lF R(3911.)> 49
IF R{3875e)~=NA "
4ELS: 00;

ENo.
. ENO;
_END; o
T IF R(3912.)==2
- IF R(1e)=3913 |
‘ ENDo :
" END;
 R{3875450)= PR?l.
% R(3875.)=SAVEL;
(E? ‘ R(3872.)=SAVEZ2;
' R{3870.)=SAVES3;
"R(3868+)=SAVE4;
R(38654)=SAVES;

IF R(31924)<=(70-R(3911.4)/12)

THEN 00;

lF R(3l92 )<= (70 R(39ll-)/12)

THEN DO;

Rile)=4338 | R(le)=1398

e M e e

APPENDIX 24=1" = 7

THEN PRT1=R(3872.);

THEN PRT71=1;
ELSE PRT71=2;

THEN PR71=R(3875.);

THEN PRT1=1;
ELSE PRT1=2;

THEN PR71=R(3875.);

- THEN PR71=1;
- ELSE PRT1=2;

THEN PR71=R{3370.});
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YOUN; MEN l4-24 .
CJthUDK SUPPLEMENT =~ APPEMOIX 23

.

LR

DERIVAT[On:
DCL A FLOAT DEC(6); o
‘A==1j Ba-1; Bl=-1j C==1 ; Cl=-1; O

=-1; 0Ol=-1; E=-1; El=-1; F=-1; EP==-1;
IF R(43.)=1 S THEN A=1; : ,
IF R(43,)=0 S 0 THEN A=0;
+IF R{b46e)=1 oo = 0 THEN B=1;
IF Kl6464)=0 - S THEN B=03
IF (R(l4338e)=2 | R(143841=3 | (R(644e)=T7 & R(1169e1=T7) | R(65444)=7)

€ 8=-1 THEN BL=0; : :
CIF Ril438.)=1 . , THEN 21=1;
CIF RULL70.0=1 e THEN c 1. .

TIF (R(2U0Lle1=2 | R(2C01a)=3 | (R(lleo)—7 & R(1751.)-7) I RE1169.)=7)
& C=-1 THEN Cl1=0; e -

IF K(2001.)=1 . THEN Cl=1;
IF R(17524)=1 - T THEA D=1 -
IF R(1752.)=0 THEN D=0; -

IF (R(2816e)=2 | R(28B16a)=3 | (RU1T51.)=T7 & R(2342.)—7) I R{1751.)=7)
¢ D=-1 THEN D1=0;

K(23164)=1 THEN Dl=1; ot
Rl23444)=1 . THEN E=1;
R(2344.1=0 - THEN E=0;

(R{369Y34122 | RU36934)=3 | (R(234241=7 & R(3059e)=7) | R(2362¢1=7)
& t=-1 THEN El=0; T

IF R(3693.)=1 THEN El=1;
IF R(30004)20 | R(30594)=7 THEN F20;

IF R(3060.)=1 o ~ THEN F=13

ML el o e e

R YR,



(B=0 | Bl=0) €& (C=0 | C1l
: . (E=0 | El=u) & F=9
C1F A=l &€ (P=0 | Bl=uy) & (C=0 | C1
— v (E=0 | El=u) & F=0
"HIF F=0 & (B8=1 | Bl=1) & (C=0 | C1
T "~ (E=0 | El1=0) THEN 00;
“[F A=l TR

YU IF A=Q
CENDG L
JIF F=0 ¢

|
|
|
|

o~ 0Or

1

1|
o |
01

- "n .
O -

LU T TR (I ol

OO0 -

N N N e
MMM Mg~ m -
> P> > >

Mél=

El=

3l=1)
Bl=1)
Bl1=0)

8l=0)

EL=0) € (D=1 | Dl=1)

Bl=1)
sl=1)
8l1=0)
81=0)

9) € (D=1 | Dl=1)

3l=1).
3l=1)
81=0)
81=0)

1) THEN DO;
f>THEN IsH
THEN 0O}

C oW
C O r-r-
[0
Pt
W
(@]

THEN 00;
cl=1)
gl=1)
B1=0)
81=0)

Howonon
O Cr -

TREN DO,
TAEN O0;
| Bl=1)
I 8l=1)
| o1=0)
I 81=0)

< O - -

TmEN UO0;
| 81=1)
| Bl=1)
| vl=0)
| B1=0)

[Ca o8

U
W o un

CCr-e

01=0)

SRR T T ST G MBS AU NN L NN e
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&
THEN

D1=0) &

01=0)

Cl=1)

Clz1l)

| C1=0)

RN

- THEN

&

THEN
THEN

THEN DO;
THEM
THEN
THEN
CTHEN

THEN D03
THEN
THEN
THEMN
- THEN

THEN D3
THcN
THEN
THEN

“ JHEN

~THEN
"THEN
THEN
THEN

THE
. THEN
THEN
"~ THEN

THEN
THE®
THEN
THEN

THEM
THeN
THcN
THEN

EP=301;
EP=3902;

EP=401;
EP=402;
EP=473;
EP=404;

EP=501§
EP=5N2;
eP=503;

EP=504;

EP=525;
EP=506;
EP=50T7;
FP=503;

EP=601;
FP=502;
EP=503;
EP=60+;

EP=605;
EP=4063
EP=607;
EP=5743;

EP=50v;
FP=610;
EP=sl11l;
EP=512;

EP=al3;
EP=5143
EP=6c15;
FP=6153



o o ' APPENDIX 24-277" 3==#0"
THEN 0U; - . - e T
| El=1 THeN DO “
o=1 | vl=1 THEN DO ‘
IF C=1 | Cl=1 THEN DO; , _ , S
IF A=1 & (B=1 | Bl=1) .- o : THEN FP=TN13"
IF A=Q0 & (B=1 | Bl=1) . C T . THEN EP=702%
IF A=l & (B=0 | B1=0) A : THEN EP=703;
IF A=0 & (B=0 | B1=0) P . o THEN EP=T94;
END; T “ o : T
IF C=0 | C1=0 THEN DO;. . S _ L
: IF A=l & (B=1 | 8i=1) S - THEN EP=7053"
N IF 4=0 & (B=1 | BL=1) - .= -~ - IR THEN FP=T063 "
- IF A=l & (B=0 | Bl=0) . - . o ~ THEN EP=70T7;
IF A=U & (B=0 | Bl1=0). T T “ THEM EP=T703;
END; . e e TR o B :
1€ D=0 | D1=0  THEN DO;" *»
. IF C=1 1 Cl=1 TnEN LO;
IF A=l & (B=1 | Bl=1)
IF A=0 ¢ (B=1 | Bl=1
IF Azl & (B=0 | Bl=0)
3 IF A=0 & (B=0 | Bl=0)
END; et '

IF C=0 | C1=0 THEN 0O;
L IF Aa=1 & (B=1 | Bl=1):
IF A=Q & (B=1 | Bl=1l)s
IF A=1 & (B=0 | B1=0)

IF A=0 € (B=0 | Bl=0
ENOy - P B »

." ENDG . oo
d ENDs o

IF €20 | E1=0- THEN DO;
IF D=1 | Dl=1  THEWN DO;

IF C=1 | Cl=1 THEN DOj: R
& (B=1 | Bl=1 THEN EP=
Bi=1 THEN

'B1=0 THEN

THEN

THEN
THEN EP=T73D3
THEN EP=T731
THEN EP=T732




\.g
.

DERIVAT [ON:

YOUNG MEN 14 -

CJDEBJOOK SUPPLEMENT

PART A

L R(3035.)=NA;

IF R(2¢e)=14 THEN 0ON;

IF

T UR(2324450)=NA &

'7‘L¢IF

(R(2324.50)>=1 &
(R12324.50)=NA &

R(1152.)<=2) |
(R12324.50)=NA & R{1T738.)=NA
"RU63T.)>=1 & R(637.)<=2) |
(R12324450)=NA & R{1738.,)=NA

R(6374)=NA & R({30.)= 1)
(R(2324.501=3) |
{R12324450)1=NA & R{1738.)=3)
{R(2324.50)=NA w R(1738.)=Na

IR(2324450U)=NA & R(1738«)=NA

(R12324450)=NA & -R(1738.)=NA
R(637T«)=NA & R{30)=0)
END;

(BLse IF R(22.9=15 TaEN 0O

[F

IF

]
(R{L1733e1>=1 & R(LT3Ba)<=2)
(k{1T32.)=NA &
(R(1735«)=NA &
R(63T.1<=2) |
(R{1738.)=NA &
R({3Ce)=1)

(R(1738e1=3)
{R(17384)=NA
{R(1738.)=NA
(R{1738.)=NA
R{30.)=0)

R{1152.)=NA &

R(1152«1=3)
R{EL152«1=NA
R{1152«)=NA

[ 203 SAIN SaTeand
[ 2o I SO

END;

- APPENUIX #

24
24

R(23244501<=2) |
RULT38Be)>=1 & R(1738B.1<=2)
RULT7384)=NA & R(1152.)>=1

€ R(1152.1=NA
& 'R{1152.)=NA
{

£ R(1152.1=3)
& RI11524)=NA

& R(1152.)=NA

RE1152e)>=1 & R(1152.)<=2)
R{L1152e1=NA & R(63T.)>=1 &

RU637.)=NA &

RE637e)=3) |
R(637«)=NA &

™
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THZN R(3035.)=1;

THZIN R(3335.)=2;

TrcN R(39J35.)=1;

THEN R(3035.)=2;
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EUSE IF R(224)216 THEN 00
. IF (K(11524)>=1 & R(11524)<=2) |
(RUL1152.)=Na & RI53Te)>=1 & R(6374.1¢=2) |
(R(1152.)=NA & R(637¢)=NA € R(30.)= 1) ~ THEN R(3035,)=]
IF (R(1152.1=3) | . .
- (R(1152.)=NA & R(637.1=3) | -
Ce T tR(11524)=NA € R(637T.)=NA € R(304)=0) | THEN R(3035.)=2
R END; - - |

ELSE IF R(Zlo)—17 TnEin DO;

_ELSt IF R(ZZ.)‘XS THEN 00;

IF (R(63T7e)>=1 & R(6374)<=2) |
“(RI637e)=NA & R(3u.)-1)
IF (R{637.)=3) | , : ,
(R(037.)—AA &€ R(30.)=0) o Lol 2= THEN R(.39335.)=2;

SRR O THEN R(3035.)=1;

END;

e 4 .
: “IF  R(30.)=1 L THEM R(3035.)=1
ELSE IF R130.1=0 ) A e e e CLC THEN R(30354)=2
: END; - ERR ISR )
ELSE [F R(224)>18 THEN 00O; R o e R
f I[F R(382.)=3 & R(30.)=1 ‘ S THEN RU3035.)=1;
ELSE IF R(382.)=3 & R{3U.)=0 o e THEN RU3035.)1:=2;
ELSE IF R(382.)-=3 THEN DO; -
- IF R(387.)=1 & R(30.)=1 S THEN R(3035.)1=1;
’ IF R(387.1=5 | (R(387+1=1 & R(304)=0) THE!, R(3055.)=2;

IF R{387e)>=2 & R(387Te1<=4 & R(108.)=1 & R(3Je)=1 Trc* P(2035,)=13
[F R(3a87e)>=2 & R(3BTa)1<=4 & R(108.)1=1 & R(30e)=0 TH:EN RI(3U3%.122;

IF (R(39%.)=4

| R(396.)=6) & R{3874)>=2 € R(387.)<=¢4 THe™ R(3335.)=13

IF (R(2241-R(3834))1<=18 & R(30e)=1 THEN R(3)25.,)=];

IF (R(22e)=-R(3834)1<=18 £ R{3U.)=0 THEN R(3135,)=2;
o IF RU22e)>=19 & R(2241<=20 & K(38Te)1>=2 & RI(387.)<=5 ¢

(R{22e)=R(383.))>18 & R(385+)=1 - THEN 003 '

- IF R(30.)=1 THaN R(30354)=1;
" ELSE IF R(30.)=0 ; : " THEN R(3335.1=¢;

: , ot ) ' END;

END;
END;



PART B

DERIVATION:
'byiR(3833.)=NA;

o LF R(224)=14 THEN
- IF R(29624)>=0 & R(29624)<=138

ELSE [F RI2962«)=NA THEN

IF RI1752.) =1
ELSE IF R(1752.)=0 e
ELSE IF R(l752.)-NA THEN o
i JF R(1170e)=1
ELSE IF R(1170.)=0
ELSE IF R(1170.)=NA THEN

o IF RU646e)=1

ELSE IF R(646e)=0

: IF R(43.)=1
ELSE IF R(43.1=0
£ ELSE; -
o ELSE;
o ELSE;
ELSE;

ELSE;

.ELSE IF R(22.)=15 THEN
IF R(220841>=0 & R(2208.)<=18
ELSE IF R(2¢03.)=NA THEN
IF R(117C.) =1
ELSE IF R(1170.)=0
ELSE IrFr R(1170.)=NA THEN
IF R(6464)=1
ELSE IF R{(646.)=0 :
- ELSE IF R(646.)1=NA  THEN
-+ IF R(43.)=1
ELSf IF R{434)=0
e " ELSE;
ELSE;
ELSE; P

ELSE IF R(6464)=NA THEN .

. APPENDIX 24-3 3

THEN R(38334)=R(29624);

THEN R{38334)=R(22049.)+1

" -THEN R(38334)=R(2203.1;

CTHEN R(3833.)=k(1638.)¢1

),ﬂTH:N R(333341=4(163841 ;

"THEN R(3833.)-R(1096.)*2.
fIHEN R(3833.)-R(1096.).‘

: THEN R(3d33.)—R(DPL )+23
THEN R13833.)=R(581le);

THEN R(3833.)=R(2203.);

THEN R(3833.)=3(15633.1¢1
THEN R(383j.)=&{1538.);

THEN R(3333.)=R(1U95.)¢+1;
TREN R(3333.)=R(10%6.);

THEN R(3333.)=R(581.1+2;
THEN R(3833.)=R]581.);
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ELSE IF R(ZZ-)—lé THEN ’
. L IF R(16384)>=0 £ R(l638.)<=18 THEN R(3833.)=2(1533,);
ELSE IF R{1638.)=NA THEN L
’ wonlwR TR Rlo4be) =1 , . ‘ THEN R(3433.)=R(109564)+];
ELSE IF R(64%.)=0 S ) : THEN R(3933,.)=P(1096.);

ELSE IF R(o46.)=NA  THEN S

_ IF R(43.)=1 : T THEN R(38334)=R(531e)+1;
ELSE IF R(43.)=0 R . . THEN R(3833.)=xk(58le);
oon o ETELSES :
- T ELSE
ELSEo -
ELSE IF R(zz.)-17 : THEN " '
£ v IF R(1096.1>=0 & R(1096.)< 13 . THEN R(3833.)=RP(109%.);
«ELSE IF R(lOQb.)=NA THEN

X “IF R(434)=1 . THEN R(3¥33.)1=R(>81a)+1;
ELSE IF R{43.)=0 : - THEN R(3533.)=R(581e)3

ELSE IF R(ZZ CTHEN R(3833.)=R(581.);
ELSE IF R(22.)518  THEN DO T o . | =
i IF R(58141>=0 & R(5HL.)<=2 - © THEN R(3%33,)23(581.);

IF RUS81.50)=Na THEN 0O;

IF R{581.50)<=14 ' - THEN R{3833,)=R(581.);
. ELSE IF R(581.501)>18 - - THEN RI(3833.)=R(551e)-=x(5B1a450)+

ENU; : .
'IF R(581.50)=NA THEN 00; E
o IF (R(2241-181<=(66~-R(3831.)) & :
s R(3331le)<=66 THEN R(3833.)=R(581.1;
R(22)>=19 & R(22.)<=20 £
RI581e)1>=5 & R(5R1e)<=19 THEN R{3333,)=R(531.}=R(22.)+13;
R(22.1>=21 & R(2241<=22 &
RiSole)>=13 & R(S8le)<=18 THEN R(3833.)=R(58lae)=R(22.)+13;
RI22e1>=225 & RI1224)K=24 £
R({58le)>=16 & R(58le)<=18 THEN RI(3833.)=R(581.)=R(22.)+18;
R(22¢)>=21 & R(22.)<=24 £ R(43.)=1 &
R(58le)>=12 & R(58l4)<=15 THEN R(3333.)=12; -
END;
END;



